A
[E#E5I28 EER(SA16H~24BEES) JAL/JTA/JAG/RAC
EEEAR 2012/1/17 _~
Ecs A 2 °
XA Zld BrE g;;?_;i tg,]g@’q f#E 3/20 ':iu_g@’q
XD | KO " =
BRCPHE) =2t [BEECHHE) %[44 (33%) [JAL/JTA[JTA/RAC| 22,700 63% | H:23,700 22,700 63%
Eh% [P GRE) |JTA/RAC[JAL/JTA| 22,700 63% | H:23,700 22,700 63%
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AR (BHFE) | JAL [JAL/JTA[ 30,200 62% |% 1:31,800, H:31,400 30,200 62%
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EEHE [P GRE)|[JTA/RAC]  JTA 25,300 59% HH:27,700 27,700 55%
IMNA=F1E INRFE [P GRER) | JTA JTA 26,700 60% | #+:29,100 26,700 60%
AiEH  [E@ERHE| JTA JTA 26,700 60% | A H:29,100 29,100 57%
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A |ERERCHE)| JAL  [JAL/JTA[ 28,800 59% [£::32,900, 1:29,700, H:29,600 30,900 56%
B (BRER) = Lfe [P (FRFR) | R CHHE) |[JAL/JTA|  JAL 24,500 61% | H:26,300 26,300 58%
WkEE  |ERCEAE)| JAL  [JAL/JTA[ 24500 61% | H:25.300 24,500 61%
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